Syntactic/Semantic Cues

Class

Date

The car stopped abruptly to avoid hitting
the little kitten when it ran into the road.

Usecontext clues to figure out what the
underiined ward-means in this sentence.

.1
A pilymeans slowly ®
B | abruptly means glieth
C 'abruptly {ngans guickly J
D apruptly frieéns énarily P

Name

o The man with the black hat sat right
in front of Mason and Emma.
Wiigas the black fats
A TGV ‘
B :
[ the man | §§
D , = 5

e Mary quietly tiptoed past her sleeping
sister so she would not her.

The lady was very kind to me.

What part of speech is

miccina in thic cantanca 7

fth.'ahun.:d.ﬁ.tgbﬂﬁ in_thic cantoanca®

. PREVIEW

Please Sign In or Sign Up to download
the printable version of this worksheet

What part of speech would the
missing word be? N

A noun

E adiective
C .

D tioh

e Ny jht 2hlabundant amp unt
ofearay-lor tffe_party—There was plenty

of candy forall of our guests
and we even had a lot left over.

Use context clues to figure out what the
underlined word means in this sentence.

A delicious C alarge amount
B a smallamount D round
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Who has the loose tooth?

A ] B @

B ff

 thp oBce) i

D nojone (\j

The bird theNg rfisecti-fram

my bird feeder.

Using clues in the sentence, you
can tell that the missing word is
which part of speech?

A noun C verb
B adjective D interjection
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The car stopped abruptly to avoid hitting
the little kitten when it ran into the road.

Usecontext clues to figure out what the
underiined ward-means in this sentence.

.1
A pilymeans slowly ®
B | abruptly means glieth
C 'abruptly {ngans guickly J
D apruptly frieéns énarily P

e Mary quietlytiptoed past her sleeping
sister so she would not her.

The lady was very kind to me.

What part of speech is

miccina in thic cantanca 7

fth.'ahun.:d.ﬁ.tgbﬂﬁ in_thic cantoanca®
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Please Sign In or Sign Up to download
the printable version of this worksheet

What part of speech would the
missing word be? N

A noun

E adiective
C .

D tioh

e Ny jht 2hlabundant amp unt
ofearay-lor tffe_party—There was plenty

of candy forall of our guests

Use context clues to figure out what the
underlined word means in this sentence.

A delicious C alarge amount
B a smallamount D round

Who has the loose tooth?

A 'a@
B he offi

The bird
my bird feeder.

theNQriiseai-rorm

Using clues in the sentence, you
can tell that the missing word is
which part of speech?

C verb
D interjection

A noun
B adjective
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